0 SUHTR AHIRgd dfvead o

(LATE JAIPRAKASH MEMORIAL CHARITABLE TRUST)

dr - FI%&TWE‘R foret - Iralt Jolo Savaiya Mahalwar, District - Chandauli
(Registration Number -1V 45/23)

Rural Talent Search Exam (RTSE) — 2024 Conducted By LIMCT

AT qutte : 100

(ST Roll No. ... Date : 07 April 2024 Time : 1:30 hr.

RTSE 2024 Ui&fT &1 f¥siee YouTube Channel — RTSE Exam UR 3TATT|
3rd: 3y gt udendf wfen &1 ufvomy @ & e 39 I W a1 @2




1 TMeg B! oY BICT SHIS TN Hgalkl g ?
(A) TR

(A) USIq

2 FERfd A A gg g aran ec & 2

(A) fevugsm=ay
(A) feRurRay

3 g% &1 9fY - e &
(A) TT+Td
(A) T+ 3P

4 TelaR IaTERU §
(A) Sgdie TH™
(A) f& T

5 3fRIaRT T A 2 -
(A) fa=mT
(c) foRIuTE

6 T4 %1 yafgardt 8
(A) TR
(A) TeBTRT

7 S HfETE W e | & fore ues <rsq 817 -
(A) g

(A) 3TTH

8 SRI TR IR @1 GeTak &1 el i |1 g 2
(A) 7@ BIFT
(A) THEH T

9 g T BT WIS UG T Q ?
(A) T8
(A) SPIY

10 IgUf Ted Il 9 H TG STDPR © -
(A) THD
(A) SIUTH

(A) ATdS

NG

(A) HT

(A) STHT
(A) SR & J PIs el



Q 11. Find the correct spelt word
(A) Affedevit (B) Afidevit
(C) Affidevit (D) Affidavit

Q 12. Fill the correct preposition in the blank from the given options
The doctor gave me a prescription my cough .
(A) for (B) with (C) at (D) to

Q 13. Change the following sentence from active to passive
The boy laughed at the beggar.

(A) The beggar was laughed by the boy.

(B) The beggar was being laughed by the boy.

(C) The beggar was being laughed at by the boy.

(D) The beggar was laughed at by the boy.

Q 14. Select the antonym of word ‘AUTONOMY’
(A) Submissiveness (B) dependence
(C) subordination (D) slavery

Q 15. Which of the following is the synonym of word contingent
(A) Conditional (B) questionable
(C) argued (D) rejected

Q 16. Choose the most appropriative one word substitution for the following sentence.
One who possesses many talent.

(A) Versatile (B) gifted (C) exceptional (D) nubile

Q 17. Find out the correct meaning of the idiomatic expression

to cry wolf
(A) To turn pale (B) to give false alarm
(C) to be astonished (D) none of these

Q 18. Which is the correct indirect speech of the following sentence
She said “I did my work”
(A) She said that she had done her work (B) she said that she does her work
(C)Bothaandb (D) None of these

Q 19. Fill in the blanks with the correct option to make the sentence grammatically correct
Either he or | to represent the school.
(A)Is (B) are (C) am (D) none of these

Q 20. | was pleasantly surprised when she showed up at the door unannounced. Identify the underline world
(A) Adverb (B) adjective (C) verb (D) conjunction



Q21. TR YA &1 3 fHY HeTwmarg ?

(A) YRd (B) &fafur - 3hipHT
(C) 3frecfer (D) S0 A BIE TET

Q 22. Fufafed # 3 SR PIRAT B AU =TS 2
(A) I () Ryara
(C) &5 (D) SIRH

Q 23. 34 G &1 RITYAT forga fmam o1 2
(A) IR HIg-RIT (B) TTH} TUTHE TRET!
(C) 3Rfde Oy (D) 19 ¥ BIS T8I

Q 24. HRGT ARE STHYF HRIM (ISRO) T RITTAT

B G UT ?
(A) 15 3FT¥T 1969 (B) 2 3faTaR 1968
(C) 5 RydsR 2000 (D) 14 RidsR 1949

Q 25. SETYA Tel OF ISR H TR et § @ S e
A J S ST 8 ?

(A) gy (B) fegi

(C) AET (D) ST

Q26. YRd H Uiolde Tfathe [y ay & Yeed gai ?
(A) 1973 (B) 2009
(C) 2005 (D) 1992

Q27. IR U H Y SITST 3{HIG Pl W BT 8 ?
(A) IRTOTH (B) UdT9TTG
(C) 3FRIET (D) TANRTS

Q 28. B SNy ST TRIF F5l R R g ?

(A) TS feeh (B) <idTell
(C) TETS (D) BTG
Q29. A AP I FBl 87

(A) fagR (B) AL UG
(C) IRES (D) gfaron

Q 30. UG Y ¥Y & Ugdl HgNId S A ?
(A) gl (B) Pt
(C) STeb! A (D) TH A B TEI

Q 21. Which country is called thirsty land?
(A) India (B) South Africa
(C) Australia (D) None of these

Q 22. Which of the following is the capital of North Korea?
(A) Pyongyang (B) Seoul
(C) Hanoi Dublin (D) Dablin

Q 23. Who founded Arya Samaj ?
(A) RajaRam Mohanrai (B) Swami Dayanand Saraswati
(C) Arvind Ghosh (D) None of these

Q 24. When was Indian Space Research organisation
established ?

(A) 15 August 1969
(C) 5 September 2000

(B) 2 October 1968
(D) 14 September 1949

Q 25. When Brahmaputra river enters Bangladesh, by
what name is it known
(A) Sangyo

(C) Meghna

(B) Dihang
(D) Jamuna

Q26.In which year was Project Elephant started in India ?
(A) 1973 (B) 2009
(C) 2005 (D) 1992

Q 27. Where is guava grown the most in Uttar Pradesh?
(A) Varanasi (B) Pratapgarh
(C) Amroha (D) Prayagraj

Q 28. Where is National Drug Research Institute located ?
(A) New Delhi (B) Chandauli
(C) Lucknow (D) Kanpur

Q29. Where is Betla National Park ?
(A) Bihar (B) Madhya Pradesh
(C) Jharkhand (D) Haryana

Q30. Who was the first Secretary General of the
United Nations ?
(A) Sukarno

(C) Bana ki Mun

(B) Trigweli
(D) None of these



Q 31. YR Roid §b RAME P A TaR B & ?
(A) DIfeRTaBTd g (B) et g8t 5@
(C) TG I (D) 3T 3R g

Q32. & g B g1 e siicier St HiY daifera
RS B AIR IWBR 3R FUDI & S saaid JeT &1 gafl
T, I HY forg TR w1 fawa g 2

(B) T it

(A) T R
(C) el =it (D) fatry =it

Q33. T@ 8 H 9 & @1 Areid YRd farg o e fifear
T BT T U7 93T fohd SHTIRRM DI YRd gRT ATag g o

AT T T ?
(A) TIRTH U= (B) 3TN Haeq
(C) 3MTae=H fad (D) SRR HHUT

Q34. BTl 81 H =i § 38T soiaeial sl i fobg 3fay Uiy
FRfearg 2

(A) TG (B) Jrgufd
(C) IFIH T (D) SWRIgd & I Taft

Q35. YRd P! UG eTpIvR HRwYT Afshd fdy ot
BT YRA & fFa I A g ?

(A) feHT=e uew (B) ITRITS

(C) feBR (D) TSR

Q36. @ 2024 ¥ ford AT BT YR Id T THIAT B B
HIOTT IR GRT fbar T g 2

(A)5 (B)3 (4 (D)2

Q37. T8 H YR & [y Iod B! faeum=aHT & FHH

AR GfedT & uild far g 2
(A) IR Y (B) T
(C) STRITS (D) IRTS

Q38. <X & YYFEA off R A gRT Wde HieR &1 3gured
fPg A R fPa e ?

(A) 718 faeeht (B) fasrararsT

(C) IRTU WESUH

Q 39. 99 ¥ fhgs! o1t a6 YR Id T g1 el fobar
g ?

(A) Bl IH St (B) ST HITRTa 3Maseh off
(C) 3rcd St (D) et =R g off

Q.40 R ) T HRE MRl e SR @ B
Tl Siaex (TG &1 g1 81 # (e $gi gen g ?

(A) TS (B) 3BT

(C) TGS (D) &

Q 31. Who is the current Governor of Reserve Bank of India?
(A) Shaktikanta Das (B) Madhavi Puri buch
(C) Raghuram Rajan (D) Urjit R Patel

Q 32. Recently, the farmers' movement which was in discussion
was a burning issue between the government and the farmers
regarding agriculture related problems. Tell in which list is
agriculture the subject of ?
(A) Union list

(C) Concurrent list

(B) State list
(D) residual inventory

Q 33. Recently, the Maldives-India dispute was in discussion which
was covered in the media. Tell which operation was conducted by
India in Maldives ?

(A) Operation Pawan
(C) Operation Shakti

(B) Operation Cactus
(D) Operation Karuna.

Q 34. Who has declared the electrol bond which was in
discussion recently illegal ?
(A) Parliament

(C) Supreme Court

(B) President
(D) All of the above

Q 35. India's first helicopter emergency medical service was
started in which state of India ?

(A) Himachal Pradesh (B) Uttarakhand

(C) Bihar (D) Rajasthan

Q 36. How many people have been announced by the President to
be honored with Bharat Ratna in the year 2024 ?
(A)5 (B)3 (C)4 (D)2

Q 37. Recently, Uniform Civil Code has been passed in the
assembly of which state of India ?

(A) Uttar Pradesh (B) Goa

(C) Uttarakhand (D) Jharkhand

Q 38. At which place has the Swarveda Temple been
inaugurated by the Prime Minister of the country, Shri
Narendra Modi ?
(A) New Delhi
(C) Varanasi

(B) Vijayawada
(D) Chandigarh

Q 39. Who among the following has not been awarded
Bharat Ratna yet ?

(A) Kanshi Ram ji (B) Dr. Bhimrao Ambedkar ji
(C) Atal ji (D) Chaudhary Charan Singh ji

Q 40 Where did Dr. Nityanand, who discovered Saheli,
India's first oral contraceptive pill, pass away recently?
(A) Mumbai (B) America
(C) Lucknow (D) London



Q 41 FIUH Il SATFIA -

(A) gdb (B) STffepT

(C) 3ffeqaes (D) TR ATy
Q 42 9 # 3 {59 Aard &7 YA S1d Iakeb & =T | fhar
ST g ?

(A) Ienfw (B) U HIRT
(C) USirar (D) TR

Q 43 Ffiad & ¥ frg § snifafere s giar e
(A) ZHA (B) UTA®H

(C) @t (D) R=ept

Q 44 TR BT GRS Ul T8 ?

(A) K (B) Br

Q) w (D) Hg

Q 45 HYFH H 3R BT TN TR Sl & WY BT ITD
SICT- QT U] 7 37T B D1 UfhaT T Hgard g ?

(A) TrGTBROT (B) 3MHa

(C) R (D) 399 A DIs gl
Q 46 9 B 1 g ST U AR B 2

(A) OTd (B) gdtsuar

(C) AT (D) fargRur

Q 47 it uerf &1 Hfca & a1U 673.158 ©, @ S O g9
T T T I ?

(A) 373.75 (B) 273.15
(C)473.15 (D) 400

Q 48 UM (x) T9T (t) T J U ST &

(A) AT (B) @RI

(C) G (D) 371 A PIS Te

Q 49 T Tig fRR a1 J RE et 8 H g8 fiRa o 3uat
AT AT BN G -
(A) vgH/2 (B) vgH

(C) v2gH (D) STH A PIS g

Q 50 SRTSR GTAM & &l {is HH: 3v 3R 2v H T I Td |
& S!St it T SuTd 81 -
(A) 9:4 (B) 3:2
(C)4:9 (D) 2:3

Q 41 The excretory organ in earthworm is -
(A) Kidney (B) Excretory
(C) Epinephrine (D) Malangiogenic tubules.

Q 42 Which of the following algae is used as bio-fertilizer?
(A) Mulothriks (B) Polyscifonia
(C) Azolla (D) Nastak

Q 43 Which of the following contains oxalic acid
(A) Tamarind (B) Spinach
(C) Curd (D) Vinegar

Q 44 What is the chemical symbol of tungsten ?
(A) K (B) Br
(cw (D) Hg

Q 45 What is the process of separating a mixture of liquids into its
different components by using the difference in boiling points
called ?

(A) Vaporization
(C) Decantation

(B) Distillation
(D) None of these

Q 46 Which of the following is not a property of a substance ?
(A) Density (B) Compressibility
(C) Wavelength (D) Diffusion

Q 47 If the temperature of a substance in Kelvin is 673.158,
then the value of this temperature in Celsius will be ?

(A) 373.75 (B) 273.15

(C)473.15 (D) 400

Q 48 The graph at (x) time (t) is obtained from
(A) Velocity (B) Acceleration
(C) Both (D) None of these

Q 49 A ball is dropped from rest H distance its average
speed in falling is -

(A) VgH/2 (B) vgH
(C) v2gH (D) None of these

Q 50 Two bodies of equal mass moving with velocities 3v
and 2v respectively, the ratio of their kinetic energies will be
(A)9:4 (B) 3:2

(C)4:9 (D) 2:3



Q 51 YRd BT &% 3% & Hot HIMfeie Awd BT fbaa
gfa=d € ?

(A) 2.0 % (B) 2.5%

(C) 2.4% (D) 2.9%

Q52 9 A Y 59 788 & Ga ¥ HURd 3R R & o1 31 g
FHBITE ?

(A) ZfeT ek TER (B) T TgX

(C) TR (D) 3RS &R

Q 53 A 3R A R Y4 &) BT AT S -

(A) dc (B) &1U

(C) yragy (D) SR H F BIs T8

Q 54 Ui e &1 98 ST RRR e Aq1g ?
(A) 3T St (B) EraTeT
(C) Hex M (D) 39 Y PIS T

Q 55 YR RiY T UehH & VYUl STat BT =1 Ufe=Td it
JUINT R FHT @ ?

(A) 10% (B) 30%

(C) 20% (D) 25%

Q 56 U3 Sa § < ga1sht & A1 TR arelt TUATHR auf Bl
I fFa T AT g 2

(A) TR g (B) BT ST
©7 (D) 378 A PIS 751
Q57 A9 # Y B T TH G} o URTE ?
(A) TSR (B) of1-fom

(C) 3fe-efI (D) BiermIffar yrT

Q 58 T & a1 YRd & Hgl fAad g ?
(A) BT (B) dfPrerTg
(C) Blch (D) TSI

Q 59 ST9 URTSHT R 8 ?

(A) ST9 & FRIBR DI AT

(B) ST & TRE[TT Dt AT

(C) fac=r T 919 & 3aTd St A
(D) 379 A HIS et

Q 60 I fay &1 fea crsr A A afer g ?
(A)1 (B)6
(C) 12 (D) 24

Q 51 What percentage of the total geographical area of the
world is India's area ?

(A) 2.0% (B) 2.5%

(C)2.4% (D) 2.9%

Q 52 The opening of which of the following canals reduced
the distance between India and Europe ?

(A) Indira Gandhi Canal (B) Suez Canal

(C) Erie Canal (D) Orange Canal

Q 53 The land surrounded on three sides is called -
(A) Coast (B) Island
(C) Peninsula (D) None of the above

Q 54 Which is the highest peak of the Western Ghats ?
(A) Anai Mudi (B) Dodaveta
(C) Mahendra Giri (D) None of these

Q 55 What percentage of total water of Indus river system
can India use ?

(A) 10% (B) 30%

(C) 20% (D) 25%

Q 56 In West Bengal, torrential rain accompanied by three
winds is known as ?
(A) Trade winds

(C) Heat wave

(B) Kaal Baisakhi
(D) None of these

Q 57 Which of the following is a warm sea water current ?
(A) Labrador (B) La-Lino
(C) El-Lino (D) California Current

Q 58 Where are sandalwood forests found in India ?
(A) Kerala (B) Tamil Nadu
(C) Karnataka (D) Gujarat

Q 59 What is Project Tiger ?

(A) Plan for the hunting of tiger

(B) Plan for conservation of tiger

(C) Plan for import of tiger from abroad
(D) None of these

Q 60 The whole world is divided into how many time zones ?
(A)1 (B)6
()12 (D) 24



Q 61 IdAH # forg T a=y & 3y H ged Aoy td
FaTH {1 ST @ ?

(A) I 9 (B) Wpad

(C) ST (D) 599 ¥ BIS 781

Q 62 MRS gRT IIHH TIH AAIYBR 59 I8 g=mn
TR
(A) 1928 (B) 1945

(C) 1965 (D) 1948

Q 63 & HSA B8l & O A1 & ?

(A) I&UT SIIplehT (B) =¥
(C) 3HRepT (D) YRd

Q 64 YR AT BT B T HIT YU BT AT Dl Sral
g2

(A) H& Bl
(C)¥addT BT ATHR

(B) GauTfe IU=IRT &7 3iftpR
(D) SR

Q 65 HRd & TAYH o1 ILRI®T H food= UHR B1 1T B 91
FEITE T ?

(A) TH (B) @l

(c) (D) U=

Q 66 T I Gd HAGH ! GRIdT Q- aTal &1 T gt

BRI Ft o1t & o fpg I A Sa 8 ?
(A) SeicaR =t (B) FeTelT T
(C) SO gt (D) ST Tt

Q 67 AGHUT &1 fava-t Hic Sgfaa SC Sl o ferg siRfaa
CARIEN

(A) 47 (B) 84 (C)44 (D) 79

Q 68 YRd HT FUFHA g7 F folg Jaan Sy S g ?
(A) 21 year (B) 25 year
(C) 30vyear (D) 35year

Q 69 HIERIT it We A Fga & ?
(A) AIHTHT (B) ITGHT
(C) T4 (D) XTgufd Fa=

Q70 399 ¥ DM IFUfd & e | e g1 dar g ?
(A) ISTIHT & HHIT o (8) fauras
(C) faem ufvere gew (D) A 3R C g

Q 61 At present, which system of governance is considered
the most popular and best in the world ?

(A) Military system (B) Democracy

(C) Monarchy (D) None of these

Q 62 In which year universal adult franchise was adopted by
America ?

(A) 1928 (B) 1945

(C) 1965 (D) 1948

Q 63 Nelson Mandela was a public leader of ?
(A) South Africa (B) Russia
(C) ) America (D) India

Q 64 Which part of the Indian Constitution is called the soul
of the Constitution?
(A) Fundamental Duties
(C) Right to Freedom

(B) Right to Constitutional Remedies
(D) Preamble

Q 65 How many types of justice are mentioned in the
Preamble of the Constitution of India?

(A) One (B) Two

(C) Three (D) Five

Q 66 Before the elections, a list of people eligible to vote is
published, which is known as ?
(A) Candidate list

(C) Census list

(B) Voter list
(D) All of the above.

Q 67 How many seats of Lok Sabha have been reserved for
Scheduled Castes

(A) 47 (B) 84
(C) 44 (D) 79

Q 68 What is the minimum age limit to become the Prime
Minister of India ?
(A) 21 year
(C) 30 year

(B) 25 year
(D) 35 year

Q 69 What is called Council of State ?
(A) Lok Sabha (B) Rajya Sabha
(C) Parliament (D) President's House

Q 70 Who among the following does not take part in the
presidential election ?

(A) Nominated member of Rajya Sabha (B) MLA

(C) Legislative Council member (D) Both Aand C



Q 71 i &1 wifd Ha g o ?

(A) 1689 (B) 1789

(C) 1889 (D) 378 Y P I
Q 72 UTeS} fohyg wRee & 3idid Qfirer o ?

(A) TYH (B) g
(c) qaira (D) =g

Q 73 T B Yabe B e & e Sieg Ao foam s918
(A) 1T (B) fared
(C) 3@RaT (D) =

Q74.1906 # <HIRTd B REd SEleye B RITH B8l g5

d 2
(A) PYTBT (8) GBI
(C) IRTURA (D) He'g

Q 75 IR UaT, US , HL YR 3R HERIY & RaT6| &
qHER P HEA § ?

(A) g (B) TS

(C) SR (D) &R

Q 76 ToR THATT TG & TN HETEA 7 ?
(A) fermad uew (B) 3RUTSA U
(C) S HRHAR (D) HET U

Q77 9 ¥ 9 {59 g5 & uyid yRd # $R-4R sl I
R g1 T ?

(A) YRA-HH I
(C) UFiUd BT 4G

(B) @I &1 I
(D) Ry H1gg

Q 78 TGad XY BT AR TTTe BT T Hal 8 ?
(A) fomaT (B) AT
(C) T B (D) UR™

Q 79 SRIFT e H e &1 e feai g 2
(A)7 () 15
(€)8 (D) 5

Q 80 & R & fod Ui Hus Th Hoba o ?

(A) TR (B) 3MyfAepar
(C) TR g (D) A 3R B gHY

Q 71 When did the French Revolution take place ?
(A) 1689 (B) 1789
(C) 1889 (D) None of these

Q 72 Under which estate was the priest included ?
(A) First (B) Second
(C) Third (D) Fourth

Q 73 Who made the doves plan to get Germany out of the crisis
(A) France (B) Britain
(C) America (D) Russia

Q 74. Where was the Imperial Forest Research Institute
established in 1906
(A) Kolkata

(C) Varanasi

(B) Dehradun
(D) Mumbai

Q 75 The community of shepherds of Uttar Pradesh, Punjab,
Madhya Pradesh and Maharashtra is called ?

(A) Bugyal (B) Raika

(C) Banzara (D) Dhangar

Q 76 Where do people of Gujjar Bakarwal community live
(A) Himachal Pradesh (B) Arunachal Pradesh
(C) Jammu and Kashmir (D) Madhya Pradesh

Q 77 After which of the following wars, British rule was
gradually established in India ?
(A) India-China War
(C) Battle of Panipat

(B) Battle of Plassey
(D) War of Sindh

Q 78 Where is the headquarters of the International Court
of the United Nations ?

(A) Geneva (B) Washington

(C) The Hague (D) Paris

Q79 What is the number of judges in the International Court ?
(A)7 (B) 15
(OK] (D)5

Q 80 For some Indians, western clothes were a sign of ?
(A) Progress (B) Modernity
(C) Freedom from poverty (D) Both A and B



Q81063 +037 =?
(A) 1.01 (B) 0.101
(C) 1.07 (D) 1.001

Q82 (d**"t+ d°) + d' BT HF T BRI ?
(A) dz(s+t) (B) 1
(C)o (D) d**

Q 83. Gl TSN BT 3T 2 (a + b) © | T Uh G- 4a g

AT e -
(A) 2a (B) 4b
(C) 2a-2b (D) 2b - 2a

Q84. 74 d A TUT B &1 TG BT U HHRL: 4 : 5 AT AT 7
T8 §1E 3T 3T BT U HH: 5 : 6 TN B BT GAHM 3T
fpai g ?
(A) 56 T
(C) 70 9%

() 63 %
(D) 7794

Q85. {(-2)@}=7?
(A) -16 (B) -8
(C) 8 (D) 16

Q86.Tf¢ x=y?,y=22 AU z=xB dlabc=?
(A) 1 (B) 2 (€) 3 (D) 4

Q 87. U I YT U 3TId P &F%hd sRIeR §, Tl 37
URHATT HHT: p1 9UT p2 Bl af Ffeiad & T g oy o 91
g2

(A) P1<P2
(C) P1>P2

(B) P1<P2
(D) P12P2

Q 88. &l SAMI & SRIER T & qUT ID! SHagdl BT
U 1:3 &, STt FAsarsit &1 SruTd 1 8N 2

(A) 4:\3 (B) 3:2V3

(C)2:43 (D) 3:43

Q 89.TfE P(x) =x* +3 B, A FEfRRd A T T HYTII§
?

(A) P(x) U §gUS & forga u1d 3 31
(B) P(x) U §gUS ¢ forat urd 1/3 §1
(C) P(x) Th HGH § Sl §gUG Tol @ |
(D) STH A DTS TSI

Q90. T (% + 10x2 + mx + n) & &I OFES (x - 1) AT
(x+2)EPf,?‘ﬁ

(A) m=5,n=-3
(C) m=17,n=-8

(B) m=7,n=-18
(D) m=23,n=-19

Q81063 +037 =7
(A) 1.01 (B) 0.107
(C) 1.01 (D) 1.001

Q 82 What will be the value of (d***+ d°) + d'?
(A)d (B)1
(o (D) @**

Q 83. The average of two numbersis 2 (a + b). If one
number is 4a then the other number is —

(A) 2a (B) 4b

(C)2a—-2b (D) 2b - 2a

Q 84. 7 years ago the ratio of ages of Aand Bwas 4 : 5
respectively and after 7 years the ratio of their ages will be
5 : 6 respectively. What is the present age of B?

(A) 56 years (B) 63 years

(C) 70 years (D) 77 years

Q85.{(-2) (@} =7
(A)-16 (B) -8
(C)8 (D) 16

Q86.1fx=y?,y=z"and z=x"thenabc="?
(A) 1 (B) 2
(€3 (D)4

Q 87. The areas of a square and a rectangle are equal, if
their perimeters are p1 and p2 respectively, then which of
the following statements is correct?

(A) P1< P2
(C)P1>P2

(B) P1< P2
(D) P12 P2

Q 88. Two cylinders have equal volumes and the ratio of
their heights is 1: 3. What will be the ratio of their radii?
(A) 4 V3 (B)3:2v3
(C)2:v3 (D)3:v3

Q 89. If P(x) =x* +3, then which of the following statements
is true?

(A) P(x) is a polynomial whose degree is 3.

(B) P(x) is a polynomial whose degree is 1/3.

(C) P(x) is a consonant which is not a polynomial.

(D) None of these

Q. 90. If (x3 + 10x2 + mx + n) has two factors (x - 1) and
(x + 2), then

(A)m=5,n=-3
(C)m=17,n=-8

(B)m=7,n=-18
(D)m=23,n=-19



Q 91. fadedt & o a1 g FafRed fRae & g1 B 2

(A) D,Y (B) D,Z
(C) E,Y (D) E, X

Q 92. X, 5 ot IR B SR I FRAT &, T8 3¢ Gl § 3R
MY 7 et SITer © R 9% aTd s 8 81K 3m) 5 et &t amn
IRATE | JE fpa R ATIwIR ?

(A) SR (B) o

(c) af¥m (D) afaror

Q 93. Fufafad sal & § f5y 2eg & WR St qufdrar &
FUIER T8l § ?
(A) Aerious

(C) Imperious

(B) Materious
(D) Fecetious

Q 94. €1 TE Aot F U 3 g 7 | 3fd faweu gw -
-6.2,-3.5,-0.8, ccc00e. Py 4.6

(A) 1.9 (B) 1.7

(€) 15 (D) 1.6

Q95. A,BHTHIESIC,ABIAIE D, CH TR ARE,
DPIAMIE, A B HTE D A FTIEY | ?

(A) TR (B) TRAICH

(C) gam (D) At

Q96. T '+ 1 3% -, BT 3 'x', '+ BT 3 '+ TG 'x' B
3 '+ B A15x3+4 -6+ 7B HA Fufka Hifog -

(A) 22 (B) 25

(€9 (D) 175/3

Q97. R e U @1 <) Rufagi fewrs 71 § | o9 Ge de
RN IR P I Tem gt ?

(C) 4 (D) 2
QQS.W:W::W:?

(A) 3id: 91a fagm (8) 3nyfsfexe
(C) AT (D) et faqmt

Q 99. §} TS YT B YT BT -
(A) ababc
(C) abcab

(B) aacbb
(D) abbcc

Q 100. Af& HEAD &1 37 & & =0 B 3R BANK B! 57 & FUH Hedg
o omar 8 Y KITE &) forg U & Haas foar s »

(A) 87 (B) 91

(C) 69 (D) 76

Q 91. Which pair of options will complete the following series?
Ao, L P

(A)D,Y (B)D,Z

(QOE,Y (D)E, X

Q92. X travels 5 km north, he turns and travels further 7
km, then he turns right and travels further 5 km. In which
direction is he going?

(A) North (B) East

(C) West (D) South

Q 93. The vowels of which of the following words are not in
the order of the English alphabet?

(A) Aerious (B) Material

(C) Imperious (D) Fecetious

Q 94. One number is missing in the given series. Choose the
appropriate option -6.2,-3.5,-0.8, ........ P ,4.6

(A) 1.9 (B) 1.7

(€15 (D) 1.6

Q95. Ais the brother of B. Cis the father of A. D is the sister of C
and E is the mother of D. Then how is B related to E?

(A) Granddaughter (B) Great granddaughter
(C) Aunt (D) Daughter

Q96. If' ' means '-', '-' means 'x', '+' means ' ' and 'x' means
'+, then the value of 15x3 +4 -6 + 7 is determined. Do -
(A) 22 (B) 25

(©)9 (D) 175/3

Q 97. Two situations are shown of a dice below. When number
three is at the bottom, which number will be at the top?

R

(€)4 (D)2

Q 98. Heart : Cardiologist : : Kidney : ?

(A) Endocrinologist (B) Orthodentist
(C) Nephrologist (D) Neurologist

Q 99. Complete the given series —
a_b cca b c

(A) ababc
(C) abcab

(B) aacbb
(D) abbcc

Q 100. If 37 is coded as HEAD and 57 is coded as BANK, then
how will KITE be coded?

(A) 87 (B)91

(C) 69 (D) 76



